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Instruction to candidates gedoenns oce cseed :
ANSWER ALL QUESTIONS 53 Boged? B8xdr a=osis.

Planck’s constant / Speded Sommh =6.63x10% s

Velocity of light C / epe@imed medmmC =3 x 10° ms—
Avogadro constant L / gom8ed) Sood L = 6.023 x 10® mol™

Mass of a electron/ gegmeQioed dmese  =9.11x 10> kg

Charge of an electron/ gegiedimed medkeer =1.61x10"°¢C

e The paper consist of two parts ,Part A (20 MCQ) and Part B (2-structured essay)
26> ope emod eends odsBm 6. Part AREOOE 20) & Part B (Bgmws
OB gEm)

e Refer the Rubric for relevant extra data / @m0 gows e 885 € auo.

e The use of a non programmble electronic calculator is permitted
LSOOG DE MDD DI GG DOD) BE L.

e  Write the Student Registration number in both papers
E® o ecende Gon BWES guam Fose.

e Submit your answers scripts separately / 8ot s ¢0® 09 MO ees®.

Part A

e Choose the most correct answer to each question and mark a cross “ X ” over the answer
on the answer sheet.
SEoR0 ae)g BOI0E 8ENO enid) BEudl Byed 8O goE gom Bm “X” emess.

s Any answer with more than one cross will not be counted. '
Bgndt dond OB Y BO 5B 9B Hw BOE BEROE cen ©y) ©Ied.

* Each correct answer will get 3 marks/ &t® 58108 Bnos ccm® ead) 3 © ©ed.

e 0.5 marks will be deducted for each incorrect answer.

—~ e~

@ OO SEnOE oem® 0.5 ERE RO EIeD.



The outermost electronic configuration(any row) of the most electronegative element is
08 ez caEn Yeedsed oo nOded geemiedis Jommn (Den® eSgws ©e)

{1) ns’np? (2) ns’np* (3) ns’np® (4) ns’np® (5) ns’np’

The electro negativity of the following elements increases in the order
oD QredBOE Sezs agnmdn Oifds S8gedg OHed

(1) Si<P<C<N (2) P<Si<C<N (3) N<C<P<Si
(4) N<C<Si<P (5) Si<P<N<C

Which of the following ions has the smallest radius?
o aoobds af® audn goe gif gese Byed

(1) F~ (2) Na* (3) CI” (4) Ca* (5) K
Which of the following statement is incorrect. ©®® gme guds BIOCE cee DD

(1) An ion has a positive or negative charge./ ge® oc®) O &) ©Ig) el Tio.
(2) Metals tend to form positive ions./ egie® Qo gos GERD =L 0.

(3) lons are formed by changing the number of neutrons in an atom's nucleus.
oo ass8ded Hedsey § Huedin cOnHDeRs gus @led.

(4) lons are formed by adding electrons to a neutral atom.
£e)Be soRmPed geresedisn dunndeds gum @ed.

(5) lons are formed by removing electrons from a neutral atom.
cebm oooEPRs geesedis PDPERs g Eled.

NHs, has a net dipole moment but BF; has zero dipole mement because.
BF; ©g €O0® gbhsure goz3 §0¢ NH; 50 £OR® gb&we arm.

(1) Bis less electronegative than N/ ealecisl (B) eBIcses (N) ©g0 oo a8 ddus mammpwes «ob.
(2) Fis more electronegative than H/é@@a)’éaﬁ (F) o8gssS (H) 90 08 ezt watmmdrs oo,
(3) NHs is trigonal planar while BF; is pyramidal/ NH; o8 Sewlkknmo 0o god BF; 8080 @8.
{4) BF, is trigonal planar while NH; is pyramidal / BF;08c Sewmignmo & goo NH; 868@mo @8.
(5} None of the above./ gov 550 emed.

A, B, C are elements of third period Oxide of A is ionic that of B is amphoteric and Cis a giant
molecule. A, B, C will have atomic number in the order / @550® mdboed § 803 9o §

A B @ C Og 500 088 A qudn O gd B oo @f O guo C RS ewid D
onmes ated. A, B, C g s0RED PG OEds B8O dRED

(1)A<B<C (2)C<B<A (3)A<C<B (4)B<A<C (5C<A<B



The first ionization energy of K i5 418 ki mol™. The maximum number of K' ions that can be

produced form ten joules (10 J) of energy absorbed by K, atoms are.

Koe ocl qodoosn csde 418kimol! 8. O1@er goddied K, oo®m) emsdgn
oo &6 emon  eodos (10)) gdecieine o0 WSS K goe 00 o ed €?

(1) 1.44x10"™ (2) 1.44x10°  (3) 1.44x10" (4) 1.44x10®  (5)1.44x10"

8. Which one of the following pairs of molecules will have permanent dipole moment?.
£86 €pD ghons gy § a8 goens oofged,

{1)O3and NO, (2})CO;and O3 (3)NO,and CO, (4)CO,and CCl, (5) SiF,and CCl,

9. How many protons (p) and electrons () are in the P* ion?
P¥ gomed g geemiedm (e) eciedi® (p) @Emm e®HO) £?

(1)16p&10e (2)15p&17e (3)15p&18e (4)16p & 18e (5)10p&12e

10. Which one of the following statements about atomic structure is incorrect?
e0DEnD O3®ed aoR OGRS OIOE Dmen NeE &7

(1) The electrons occupy a very large volume compared to the nucleus.
93806 o300 medsed gepmedin =08 520 g TBEe.

(2) The number of protons and neutrons is always equal for all atoms of an element.
B8P YELDS aoRMOE egiecdin ) Sxnedim wm HiEedd o ed.

(3) The protons and neutrons in the nucleus are very tightly packed.
o58dend® exjedin o Sgedien gu DES NE OH. .

(4) Electrons are in quantized energy levels.
geemiedis TeOEnome § s 83080g «=b.

(5) Almost all of the mass of the atom is concentrated in the nucleus.
SORDMER SoS0DE eSiesne HBEIRD Fdd .

11. The H-C-H bond angle in C;H,is/ CH, ®@ H-C-H @side ewigne Oged
(1) 180° (2) 120° (3)90° (4) 109° (5) 60°

12. Which of the following pairs of elements is likely to form an ionic compound ?
BEEEs QOEDRS crdn Deni® XS YEE dRed

(1) Silicon and Oxygen /&@wel & BeSBsSe {(2) Carbon and Chlorine /8¢ &) Seidss
(3) Potassium and Silicon /ee0B0e8 o &8wsS  (4) Magnesium and Chlorine /&i&S5818 o Seeides
{5) Boron and Oxygen/e@iedis’ o) @eidses

13. The electro negativity values of S, H, C, Nand O are 2.5, 2.1, 2.5, 3.0 and 3.5 respectively The most

polar bond'is ,
S,H,C,Ne® 0 &g Sezds casumdns B88e0@s 2.5,2.1,2.5,3.00s 3.5 8. 08 @lw
S Oxed

(i) C-H (2) N-H (3) S—H (4)H-H (5) O-H



14. The atom of which element has an ionic radius smaller than its atomic radius?
oo SODHMOR gudn o L0 Fond D& o8 Jeeds Dyed

(1) F (2) Br’ (3) Rb (4)s (5) N

15. The -amount of energy required to remove the outermost electron from a gaseous atom in the

ground state is known as /8 0808 «DG» DEFRL SODEORS gdme DODEE §
geprielions s B30 gdexs wuhv dged

(1) electron affinity energy/9eesedls 5o ©5Sc
(2) Sublimation energy/ ®od®» ©SHG

(3) activation energy/ a8we ©do

(4) electro negativity/Sezed ©agomnO®

(5) first ionization energy/ee® aodnos ©$Gm

16. According to the VSPER theory which one of the following has a linear shape?
(VSPER) c0dish frabdnd gaP oo ebdo aimd ded n® e?

(1) SO, (2) CS, (3) NH; (4) CIF (5) H,0

17. Which of the following pairs of elements belong to the same period?
o JEEDS QUEDRS WP YKE® PR HOLLED grs de? .

(1) Na and Cl {2) Na and Li (3)NaandCu (4)NaandNe (5)KandAr

18. Which of the following species have the same molecular geometry?
ony 0dm gIOEd oD g Oz® «=D5 &?

€O, BeCl, H,0 and N,O
(1) CO, and N,O only {(2) H,0 and N,0 only (3) BeCl,and H,0 only
(4) CO, and BeCl, only  (5) CO,, BeCl, and N,0 only

19. How many sigma (o) and pi (1) bonds are present in the following compound ?
ooy oesived B@S® (o) o o (M) 25 et OB &?

CH3CH=CH CH,

(1) 10 sigma bonds and 1 pi bond (2) 8 sigma bonds and 1 pi bond
(2) 10 sigma bonds and 2 pi bonds {4) 11 sigma bonds and 1 pi bond
(5) 12 sigma bonds and 1 pi bond

20. What is the electron configuration for the most stable ion of the element Aluminum, Al (Atomic
number 13)?
FRPHEEOE DM SOB gumed gegsiedin Somen Baed ( Aled®gym @ero® 13)

(1) 1s* 2s%2p° 35% 3p* (2) 15> 25°2p° 3s" (3) 1s® 25* 2p°® 3p°

(4) 1% 25 35245 3d° (5) 1s% 25 2p°
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This question paper consists of 2 PARTS A & B.
PART A carries 20 multiple choice questions
PART B carries two structured type questions.
ANSWER ALL QUESTIONS ‘

INSTRUCTIONS:
Each item is a statement or question that may be answered by one of the five responses given.

There is only one best answer to every question. Mark a cross (X) over the most suitable answer. For each
correct response, 03 marks will be awarded. For each incorrect response, 0.5 marks will be deducted.

~ 1. [1]2(3 |4 |5 2. |1 12131415 3. |1(21|3 1415

11, |1 |2 |3|4 |5 12. (112 |314]|5

10. (1123 |4

V/ll

13, (123 4|5 14. (12 |3(4 |5 1s. (1234 |5

6. [17213]4 5] 17. [1]2 ]3[4 |5 18 [1 (2|34 |5

-~

19.1234’5]20. 11231415

Unattempte | Correct Wrong Marks
Answers Answers
Questions
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PART- B(Answers should be only in the space provided) (40 Marks)
PART-B (BExdr & ot 908 «=0wms B8we wmw®.)

01. (a) .The mass of a proton is 1840 times greater than the mass of an electron. Calculate the charge
to mass ratio of a proton./ egiediacn Sndas gepedimed Swaiewns 1840 - D10
Smee. efediond medictn ©) Snshn gud GRENE OISR DOSS).

S

(b). Draw dot —and cross diagrams of the following molecules /e®® Bz oo 8 w80 Oy» g,

S (i) NCl3 {i) HS (iiii) SFe



Registration No .

(c)  Write complete nuclear equations for the following conversions.
soo & gt asddn BB o85ben wosi.

(i) Wpg TP "Rn + Za
(i) o —> 'p + N
-
(i) ZU + —on —>  TgBa + ZKr+37on + v
2. (a). (i) Calculate the energy needed to remove the electron from a hydrogen atom in its ground
state. The energy of an electron at any level (n) is given as E= -1311/n* kJ mol™*
©® qosdEd OBy ©ERLs s0OEmEBs geesedinnt 9O 5300 goes OEB®
0IEm® oS, B® o6 ®30® (n) de @id geEEedinnn @Etr G 0O
E=-1311/n* ki mol™ 8.
N



(i) If the required energy is supplied as light calculate wave length (in nm)of the light source
@0 gomr GEBO MEEnn ege e eeses o® O e SHOEE BO® IR
T @goen Dosse. '

{b) Write down the balance equations for the thermal decomposition of KNOz and Mg(NOs),

N

KNO; & Mg(NO;), 80 goe oo Sexisen og®m 2D CowsSn 6Pnotne Frsie
{c) Deduce the oxidation state of vanadium (V) in each of its oxides given below
o & aid (V) Sesded 8 ared0dg REBnom nEde SNen BHOHD.
(i) VO, (ii) V205

(d) Write down two properties of ionic solids /g8t ©#EO geE @ eemE GeS®.



“Explain why ethyl alcohol(C;HsOH) has a higher boiling point (78.4 °C) than methy! alcohol(CH;OH:
64.7°C) | dmesidOe mernn (78.4°C) e@nesidde (64.7 °C) menwd o8 O dees
oke il cmese.
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T EvieTSEhSSTE  DINieyQiHHe0S6I:
sreeun eileMmasEns@d alamLwalsEs.

6.63x107*Js
3x10%ms™!
6.022 x 10” mol ™!
@emsdra g Hefley =9.11x 107" kg
Bosdrear gafer gopw = 1.61x 107 C

denmmidlen wmpiled (h)
gofluier Geumd (C)
2usr56rm 1rflel 1)

IDTEREUTHEBHHTE  DiNeUDISHH0SHET:

Beualehgsren @remih (02) uGHsmend QamauGerang. uGH A (20 MCQ) suh ugd B
2 swiys . By sume alanHHeT) MU aLGLD.

Caensuwiten Gevdad Hesendse GG sIULLL QUUIDTEIBIGEMENT LWGTLHSSETLD.
CeuBrHUBGSSILLTES BevsHrafuisd seviiuramal LLSTLUGSSIMSNEG S@I0HESIUL [HeTag).
Bm elamgzreiseigud wraveuT ufey BOEEHMS GIOSOD.

2 _EBEHMLW elmLgsTeiamend Salssalursd FTUINGEE.
Part A

@euGsur eleimeysb@oren Wassflwner almLemwd QxfleyGsuig el gsmelar gflwimen
ellentuflar Guwed yeitamg ‘X’ B6Hs.

eafinE GuoulL yetemy @l gminisr g I iu rgi.

@aiGeur@ sflwrer elmLe@d 03 ueTefileel eupmIGLLIHL.

@auGsur Uenpwren elenLd@d 0.5 yeefast sfleaslLGL.

. The outermost electronic configuration{any row) of the most electronegative element is

Wsbgnigul OOIATS SeleniowjenLl ppassRa GeuslBumG Bevgdyer Bensouwiemnioiiy

(ebg euflemawns SmUlaid) X
(1) ns’np® (2) ns’np* (3) ns’np® (4) ns*np® (5) ns’np?

2. The electro negativity of the following elements increases in the order

&6l GO L cpsvsmisellsn Wl arhToHseny SiHeEMNeas CFOMID QUOEIG
(1) Si<P<C<N (2) P<Si<C<N (3) N<C<P<Si

(4) N<C<Si<P (5) Si<P<N<C

3. Which of the following ions has the smallest radius?

S0 sriu’L sweassied WesFfHu Spmrmws CaTatiGeisn e g7

(1) I~ (2) Na* (3) CI” (4) Ca* (5) K



4. Which of the following statement is incorrect. £6lp SyuULL FapEiGseTed Uenpwimer gapmi s@al?

{1} Anion has a positive or negative charge.
Q@ Swe @B BBT VG AT gHDHMBS OCHTENIYHEEDSI.
(2) Metals tend to form positive ions.
o GeunamissT GBI Slweisenersd Camnmiaisdleimen.
(3) lons are formed by changing the number of neutrons in an atom's nucleus.

) g@m&]@jml_u_l &HHelled 2 _6iTen BluLsHTaTEeiles cTenienidbend OTDHIIUGHT (LPeOLD
SILSTHET 2_(HouTdHsLILIHSTDeT.

(4) lons are formed by adding electrons to a neutral atom.

@0 BOHBmOWTa ianiainG @a)g;ﬁuan&anm& GaTULSET (PeOLD SIS
2_(HeuTssLILbH ST men.

(5) lons are formed by removing electrons from a neutral atom.

0 BhHBHmewre aielelbba BGHTHHMET BHDIUSET CLPEVLD  SHIULIEHTSHET
2 _(HeuTHSLIL(HESTDe.

5. NHjs, has a net dipole moment but BF; has zero dipole moment because.

NH; @ Smpenars Hpaisaneis QBTGNS Shamed BF;&@ @mpenears dmear 0
g Qemenien,

(1) B is less electronegative than N , :
B oaigl N m el e eTHTHBIEmD (& enmeUTesg] b
(2) Fis more electronegative than H
F ozl H @ el ga(geonen el ehThaaiemnwemlds Osmemsi(hersng.
(3) NHsis trigonal planar while BF; is pyramidal
NH; senasCamedl o8x5BmHyWw BF; gnldyheumsng)
(4) BFs.is trigonal planar while NH; is pyramidal
BF; sen(paBaman oiGx58myw NHz anbymeureng)
(5) None of the above.
Gumanpiuwl 61&IaD6D6V

6. A, B, C are elements of third period Oxide of A is ionic that of B is amphoteric and C is a giant
molecule. A, B, C will have atomic number in the order
A, B, C cpaipid 3 Spld SLaUTSHSe cpeusmisen A ulel @Uensl(h siweld @Llemdl(p, B
rllweourenigl, C @@ Guflu cpedaam A,B,C @ SiamiGeuswl @UOMHEIEG

(1)A<B<C (2)C<B<A (3)A<C<B (4)B<A<C (5 C<A<B

7. The first ionization energy of K is 418 kI mol™. The maximum number of K ions that can be )
produced form ten joules (10 J) of energy absorbed by K, atoms are. @

K & (IpSHeomeus OUeeEe FoHd) 418 k) mol™ Kig) Slemieureng 10 uieo (10)) sédHenw

DIBHHMEHFUSE (PeLlD 2_(HAUTSSLILLSIalgWl DpHHanigul K suweisailsr semienisamas

(1) 1.44x10° (2) 1.44x10°  (3) 1.44x10" (4) 1.44x10®  (5)1.44x 10"

8. Which one of the following pairs of molecules will have permanent dipole moment?.
&Bp sruulL cpossmpmiF Camyseled BIbsILTE QM (Woalas Hmeners OCETemi
(pevdaapmiF ey 61g?

(1) Ogvahd NOZ (2) COZ and 03 (3) NO, and Cco, (4) COZ and CC|4 (5) SiF4and CC|4

9. How many protons (p) and electrons (e) are in the P> ion?

P¥ ouwefled eihzsmen YGITHSEATIEEHD BsHTEIHEHDd 2 siata?

(1)16p&10e (2)15p&17e (3)15p&18e '(4)16p&18e (5)10p&12e



10. Which one of the following statements about atomic structure is incorrect?

11.

SignBsL iy updu Aeiaimd Fapmibssisd SaDTES 6517

(1) The electrons occupy a véry large volume compared to the nucleus.
asmeyal @uiGL Gung GeosAiaiset WalOufu seaumamea aBHEGL.

(2) The number of protons and neutrons is always equél for all atoms of an element.
R APVBSHHGT 616060  DIINIBBENTIHID st e SID  LpsuBHH6
uSrnsdyaiisaiengid BulsByaissiengud eemiailbmedd aUGLTHID FLOETGL.

(3) The protons and neutrons in the nucieus are very tightly packed
smalsd 2_eiten LGrISSraisEnd HulsHraisEnd e @nssonss a,rrsmuu@.eﬂmman

(4) Elecirons are in quantized energy levels.

BesdrSimet Qe Lidsiu L Féd LRGN STemiubGasime.

(5) Almost all of the mass cf the atom is concentrated in the nucleus

R ignelsl sleveond HewloymEnd DGl HHaled QFpeurssiubalarmet.

The H-C-H bond angle in C;H, is
CoHy 60 H-C-H dewmesmtiys Bamewnd

(1) 180° (2) 120° (3) 90° (4) 109° (5) 60°

12. Which of the following pairs of elements is likely to form an ionic compound ?

&6 siulL cpevss Bomgsefied SIS (PVEFMD 2_[HEITSESIQUISI,

(1) Silicon and Oxygen (HeS&men oHmId @i HFen)

(2) Carbon and Chlorine (&mue wHmid & Gemmifesr)

(3) Potassium and Silicon (QuriLrdlund wpmud HAellsaer)
{4) Magnesium and Chiorine (waéafdwb wHod @&Germher)
(5) Boronand Oxygen (Gumye wHHID @LSoer)

13. The electro negativity values of S, H, C, Nand O are 2.5, 2.1, 2.5, 3.0 and 3.5

respectively The most polar bondis /S, H,C, N & O apdlweupiiesi 16t a@rru@um;wnmrm&.m 2.5,
2.1, 2.5,3.0 & 3.5 Wsdsnigui (pemareyt LemetoriiL,

(1) C~H (2) N—-H (3) S—H (4H-H (5) O-H

14.The atom of which element has an ionic radius smaller than its atomic radius?

&6 ggi_juLL APEOBEIBSTS) Sigml SpmImusiLd GMMBS W6 SpemFenid GlBTemiL Gl
s1gi?

(1) F (2) Br (3)Rb (4)S (5)N



15. The amount of energy required to remove the outermost electron from a gaseous atom in the
ground state is known as ' ‘ '

?® suty sigmelsr oy Pameoulsd Aoba Bud LG BosHrmen JiSDNMSHEGS
Gopameuwinen sadulen Sieney

(1) electron affinity erergy / @evsdyel gnG &8d)

(2) Sublimation energy / 2 m&e &8

(3) activation energy / 2 ufitigl (b s&4

(4) eiectro negativity / 1fle1 aidiisgatenio

(5) first ionization energy / (pseomeus SLNTESD FHd)

16. According to the VSPER theory which one of the following has a linear shape?
VSPER Qanenenaullemg, tateumd apevsammisailsd SH6m augousamss Q@memi g o18il?

(1) Sso, (2) €S,  (3) NH; (4} CIF; (5) H,0

17.Which of the following pairs of elements belong to the same period?
Swaumd (peuas Gampseiied @By SLaTsHsamsmas Gaibs (POBBIGET

(1) Naand Cl (2) Na and Li (3)NaandCu (4)NaandNe (5)KandAr

18. Which of the following species have the same molecular geometry?

BB (PEENIBTN @GF (eEHmDMMIimUS QBTETIL M Tenea?
Co, BEC|2 H,O and N,O
(1) €O, and N,O only (2) H,0 and N,O only (3) BeCl,and H,0 only

(4)CO; and BeCl, only  (5) CO,, BeCl, and N,O only

19. How many sigma (o) and pi (M) bonds are present in the following compound
&6 SIOULL (pevdFapiiey aSHemen Aslon LlenemiiL|baEpd adhHmen el LlenemiibasEmpLd ‘
&reniiLIB SlesTment.

CH;CH=CH CH;
(1)10 sigma bonds and 1 pibond 10 fdwr Omemiyssat wHoid 1 eou enesiiy
(2) 8 sigma bonds and 1 pi bond 8 dbwr Jenemiiysset wopmbd | enu Tenesmriny
(3)10 sigma bonds and 2 pi bonds 10 déwr tenemiydser woHpd 2 eou enemiiy
(4) 11 sigma bonds and 1 pibond 11 Aswor Heneminsset wopd 1 sou el
(5) 12 sigma bonds and 1 pibond 12 Hawr Genemiyssai wHond | sou Nenewiiy]

20. What is the électron configuration for the most stable ion of the element Aluminum,
Al (Atomic number 13)?

siidleflud cpevasHar WOs o mPwne swelsr Geosdlper Blensouwlenioliy,
Al (SigmiGeuemt 13),

(1) 1s* 2% 2p® 3s% 3p* (2) 1s* 252 2p° 3s* (3) 15 28% 2p° 3p°

(4) 1% 25* 3s*4s? 3d° (5) 1s® 25 2p°
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This question paper consists of 2 PARTS A & B.
PART A carries 20 multiple choice questions
PART B carries two structured type questions.

ANSWER ALL QUESTIONS - stsvevr eflamréasenslo alenL  505s.

INSTRUCTIONS: siflpatd:

@aGsurm elamab@rea Wassfurer elmLamugs Osfa@sug eloLgsreiear sfwmen
alemLulent Gosd yeitemg ‘X' BHs. @ading Gupulir ueitemy @il gminlar oig
wHNI_ILLTE. @l sfwrer oL@ 03 yetefse supmisilpBL. @bt Wenipwiret

alemLd@n 0.5 yetelasen sfésiuGd. seen alamesased g8rowng sfuns ofeamws
Gzxfley Gaunuapud.

10. |1 (2|3 (4|5 11. |1 |2 |3 (4|5 12. (1|2 (3|45

13. 123 |4 |5 14. (1|2 |34 |§ 15. |1 (2314 |5

16. |1 /213 14 |5 17. |12 |3 |4 |5 18. {1234 |5

19. [1(2(3 4|5 20. |12 3 4|5

Unattempte Correct Wrong

) Answers Answers Marks
Questions
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PART- B (Answers should be only in the space provided) (40 Marks)
LWed B syouL Beileaeisefled alenLsemen eipsis.) (40 Lsierilssi)

1(a) .The mass of a proton is 1840 times greater than the mass of an electron. Calculate the charge to
mass ratio of a proton
am YyGrnsdyeier Henfley @evsHyefan Hemiemey ei 1840 wLmiy Guiwig. @
uGgrsgrale gopsAnEd Haialp@wra adssmes BaisEs. '

(b). Draw dot —and cross diagrams of the following molecules
EC SIUULL (PLSIaHEHEHSTET LsTaT - LsTeTy 6UnTULSHMS IHIEH.

(i} NCI3 (i) HyS (iii) SFg



Registration No

(c) Write complete nuclear equations for the following conversions.
&Cp sIULL BB STHEEISMEN LTIULGSHIS.

(i) 2§§Ra - P T Rp o+ o

(ii) "o —> '8 + TN

N — —— 91 g, — —
(i) LU + On‘-—’ wBa + _Kr+3 7 n + __y

2.(a).(i) Calculate the energy needed to remove the electron from a hydrogen atom in its ground state.
The energy of an electron at any level (n) is given as E= -1311/n* Kl mol™
ok BMETFS gD NBH S Beoeuledpha BosHrmar ABPUMSHEGES CHemanUTEN
shous salces. abs FHd wLLsHe (N Besdyala s&f E=-1311/n" ki mol”



(ii) if the required energy is supplied as light ca_lcu]ate wave length (in nm)of the light source
Bpmaunen séd gefwurs epmsiLGLTLIG gefipagda seme Bendms (in nm)
Sl @ 5.

(b) Write down the balance equations for the thermal decomposition of KNO; and Mg(NOs),
KNO; @euigid Mg(NOs), @engid Geuiuls (flensdsrer Fotu@GSSILLL ST GEmen
o TDSBIG.

(¢) Deduce the oxidation state of vanadium (V) in each of its oxides given below
&0 sruulL auGampw @Lensl Bhosellsd auBanguigdeat @UAGWMD eamimenis SailhEs.

(i) vO, (i) V,05

(d) Write down two properties of ionic solids
Swells Heatomiseilar Gm BUIOLSMMNS SHE.



(e) Explaln why ethylalcohol(CZHSOH) hasa hlgher boiling pomt (78.4°C) than methyl
alcohol(CH;OH: 64.7 °C)
amge dlevsBaradssr {CHsOH) a_@@g;“lso)@wnsmgj (78.4°C) Omgsd oicvsCsTelsr (CH;OH)
o_meBamamuailL (64.7°C) saGaorms. gar sen 6N G s.



